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QUESTION 1

Click the Exhibit button.
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Given the information provided in the diagram, what is the appropriate FC topology?
A. point-to-point
B. switched fabric

C. arbitrated loop
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D. ring

Correct Answer: B

QUESTION 2

Which option needs to be set on a volume to guarantee that it cannot be affected by other volumes?
A. None

B. Volume

C. Space Reserved

D. Reservation Enabled

Correct Answer: B

QUESTION 3

A company has deployed a NetApp dual controller FAS3100 series with iISCSI. Currently, there are five Windows
servers and three Novell NetWare servers connected to the IP SAN. The customer wants to connect an HP-UX server
to the IP SAN.

Which cfmode allows all operating systems to co-exist in the IP SAN?

A. single_image

B. standby

C. cfmode not applicable

D. dual_fabric

Correct Answer: C

QUESTION 4

A company wants to use jumbo frames to improve performance with their iISCSI network. When setting up the Ethernet
switches for jumbo frames, which three components need to be configured? (Choose three.)

A. Ethernet port on Management Console
B. Ethernet port on RLM

C. Ethernet port on host system
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D. Ethernet port on storage device
E. Ethernet port on FC switch
F. Ethernet switch ports being used

Correct Answer: CDF

QUESTION 5

What does NetApp recommend as best practice for zone configuration?
A. single target zoning

B. single initiator zoning

C. multiple initiator zoning

D. single port zoning

Correct Answer: B
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